AT e @ ST Eae?

(A) w2 foag U9 % FYHER WM (v) F1 Ifaeel ded, THHTT e i ST Sl § afe gfaed
SR 5l ©

(B) = fag W & ST{OR 59 Ufieyl TR Sgd € a9 stiwel @1 WeA (x) O wmfie % W %
EEHEGI

(C) t- SeA =i STRfd Lot it wife W e 78 et |

fed 1 fasredi & & 9@ fashew 9+ -

(1) < (A), (O)

(2) HE (B), (O

(3) e (A)

(4) 9 (B)
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[Comprehension IMCQ |

The potential of a uniformly charged spherical shell at a point r/2 from its centre is 5 V. The
potential at its surface is :

(Given radius of shell =r)

(1) zero
(2) 25V
(3) 5V
(4) 10V
Options :

212807112981. 1
212807112982.2
212807112983. 3
212807112984. 4
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T8 UH-FAM €9 H AR M @d F fag 2 /2 T W5V B 59 T W A 2
(T & T = 1)

(1) A
2) 25V
3) 5V
4) 10V
Options :

212807112981. 1
212807112982.2
212807112983. 3
212807112984. 4
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The capacitance of capacitor increases when :

(A) its charge increases

(B) its supply voltage decreases

(C) common area of the plates increases

(D) separation between the plates decreases

Choose the correct answer
(1) (A)and (B)

(2) (A) (B) and (C)
(3) (O and (D)

(4) (A) (B) and (D)
Options :

212807112985. 1

212807112986. 2

212807112987.3
212807112988. 4
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Comprehension MCQ
HeTf st il sedl 8 5 ¢

(A) ST TS Tl & |

(B) THH Bid dleedl Fdl

(C) Tfgsht o1 SyafT= &3 sigan €

gfgmeti & fom =1 gt vt T

T ST FHT T FL |
(1) (A) 3R (B)

@ @)@ ) ¥R (C)
(3) (O ¥R ( )

(4) (A), (B) ¥R (D)
Options :

212807112985. 1

212807112986. 2

212807112987. 3
212807112988. 4
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Two point charges +4 pC and —2 pC are placed at a certain distance in air. They experience an
attractive force F. If they are brought in contact with each other and then separated to the same
distance, the new repulsive force between them will be :

(1) 8F
(2) 4F
(3) F/8
(4) F/4

Options :

212807112989. 1
212807112990. 2
212807112991. 3
212807112992. 4
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Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

B AE +4 pC HARX—2 puC =i ag H wh Fiv=d gl W@ 740 g1 9 Teh ARRYl § F ol S99 HLd
21 afg 7R T g & grad H o S ofR fR S gff uR oten & fam s o St o site wan faeedm
EiUE

(1) 8F
(2) 4F
(3) F/8
(4) F/4

Options :

212807112989. 1
212807112990. 2
212807112991. 3
212807112992. 4
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A spherical conducting shell of inner radius r; and outer radius r, has a charge Q. A charge q is
placed at the centre of the shell. The surface charge density on outer surface of the shell is :

Q+q
411'1'22

Q-q
(2) 4:11'1‘22

Q+q
dm(ty - 17)

Q-q
(4) 417(r22 - rlz)

Options :

212807112993. 1
212807112994. 2
212807112995.3
212807112996. 4

Question Number : 89 Question Id : 21280728249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e AR AT @idt 1 stiafies B v, q91 el 5531 r, & 99 STE9 Q B T o789 q &1 @ &
&% W TS | SIE Hg W S 5

Q-+ g
(1) 4:1'.'1‘22
Q-gq
(2) 411'1’22
Q+q
O @ - )
A~
(4) 411-(r22 - rlz)

Options :

212807112993. 1
212807112994. 2
212807112995. 3
212807112996. 4
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[Comprehension MCQ |

Two charges 5 pC and —2 uC (with no external field) are placed at (—9 cm, 0, 0) and (9 cm, 0, 0)
respectively. The work required to separate the two charges infinitely away from each other is :

(1) —05]

2) 05]

(3) 5]

(4) -5]
Options :

212807112997. 1
212807112998. 2
212807112999. 3
212807113000. 4

Question Number : 90 Question Id : 21280728250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

B A 5 wC U —2 pC (fom =1 &3 &) =l A9 f6g3fi (—9 em, 0, 0) 92 (9 cm, 0, 0) W Z |
& AR N TF G Y A g4 qF A W H S1aeTE FE F

(1) -05]
(2) 05]
(3) 5]
(4) -5]
Options :

212807112997. 1
212807112998. 2
212807112999. 3
212807113000. 4
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Question Key Details :
Key Value
Comprehension MCQ

An infinite line charge produces an electric field of 9x10° N/C at a distance of 20 cm. The linear
charge density will be :

(1) 1073 C/m
2) 1074C/m
3) 1072C/m
4) 1075C/m

Options :

212807113001. 1
212807113002. 2
212807113003. 3
212807113004. 4
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Question Number : 91 Question Id : 21280728251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T 3 F@g @9 20 em 0 W Tk 9x10° N/C 1 fogd &5 3691 ohal 81 {Ed A6 o aa
B

(1) 1073 C/m

2) 104 C/m

3) 1072C/m

(4) 107°C/m

Options :

212807113001. 1
212807113002. 2
212807113003. 3
212807113004. 4

Question Number : 92 Question Id : 21280728252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following statement is correct for a potentiometer ?
(1) It cannot measure resistance

(2) It cannot measure the capacitance of a capacitor

(3) It cannot measure current

(4) It cannot measure potential difference

Options :

212807113005. 1
212807113006. 2
212807113007. 3
212807113008. 4
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Key Value
Comprehension MCQ
e favemrdt % fau fa 7 4 59 €2

(1) =% Ffeiier &1 "9 7@ Y Feha €

(2) I Henf i enfar &1 o e R g ©
(3) & YW T A & R AT T |

(4) € fawTeat =1 He & T Rl |

Options :
212807113005. 1
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212807113007. 3
212807113008. 4

Question Number : 93 Question Id : 21280728253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - II.

List - I List - II
(A) Conductance O MBT3A7?
(B) Current density I [M-1L-3T3A2
(C) Specific resistance (m [MOL-2T9AN
(D) Electrical conductivities V) M I1L-2T13 A2

Choose the correct answer from the options given below :

(1) (A1), (B)-(1), (©)-(IV), (D)-(II)

(1), (D)-(IV)

)
O-(1), (D)-(1)

(2)  (A)-(D, (B)-(), (C)-

(3)  (A)-(I), (B)-(IV), (O)-(1D), (D)-(I
(4)  (A)-(IV), (B)-(I), (

Options :

212807113009. 1
212807113010. 2
212807113011. 3
212807113012. 4

Question Number : 93 Question Id : 21280728253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Tl - [ 1 |1y Gei-11 1 frad |
T - 1 g - 11
(A) =Tt ) [ML3T-3A-2
(B) oM ¥ I [M-1L-3T3A2
() fafere gfads (I) [MOL-2T0 Al
fergdra =mereRan (IV) [M~1L-2T13 A2
e ool § 9 W& ST ¢
(1) (A1), (B)-(D), (C)-(IV), (D)-(IIT)
(2)  (A)-D, (B)-(1D), (O)-(II), (D)-(IV)
(3) (A)-(I), (B)-(IV), (O-(11), (D)-(1)
(4) (A)-(IV), (B)-(IL), (O)-(I), (D)-(1T)

Options :
212807113009. 1
212807113010. 2
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212807113011. 3
212807113012. 4
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Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A bulb of 100 W glows for 6 hours a day. The units of energy consumed in 7 days would be :
(1) 2.4 units

(2) 4.2 units

(3) 600 units

(4) 4200 units

Options :

212807113013. 1
212807113014.2
212807113015. 3
212807113016. 4
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TS 100 W &1 a¢dl T & H 6 = 9 Wi g €1 7 fei # suaa sl o1 w7 2
(1) 2.4 THE

(2) 4.2 TFT

(3) 600 THE

(4) 4200 TS

Options :

212807113013. 1
212807113014.2
212807113015. 3
212807113016. 4
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Ten capacitors each of 2 uF capacity were arranged in two rows such that first row contains
6 capacitors in series where as the rest were in second row. The equivalent capacitance of the

network is :
5
—nF
(1) w
(2) 20uF
24
—uF
@) Fw
6
—uF
(4) 3+
Options :

212807113017. 1
212807113018. 2
212807113019. 3
212807113020. 4
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29 GuifE g &1 o1 2 wF € 1 < ufad § 30 wor =Hafer fem = € % yefa dfa 3 6 genfa

gofera | & IR anfer =1 fgeta dfer o | dsH o1 Togeg aftan @

(1) ZuF
(2) 20uF
(3) 2—54@‘
@) guF

Options :

212807113017. 1
212807113018. 2
212807113019. 3
212807113020. 4
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Six equal resistances are connected between points P, Q and R as shown in the figure. The net

resistance will be maximum between :

P
. r
Q R
r
(1) Pand Q
(2) Qand R
(3) Pand R

(4) All points will have same resistance

Options :

212807113021. 1
212807113022.2
212807113023. 3
212807113024. 4

Question Number : 96 Question Id : 21280728256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

collegedunias

India’s largest Student Review Platform



F: 9 Ufadiees sl Feemgar fagsdi P, Q SR R & == § Haife fran 71 2 | el iy &= # sifereras
BT :

) P3RQ
2) QERR
) P&RR
(4) BTt feigaedl o smreR gfads grmi

Options :

212807113021. 1
212807113022. 2
212807113023. 3
212807113024. 4
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Question Key Details :
Key Value
Comprehension MCQ

The susceptibility (x,,,) and permeability (i) of a perfectly diamagnetic substance are :
(1) xu=-—-1and un=0

(2) Xm=0and p=1

(3) xp=1and p=-1

4) xp=1and u=0

Options :

212807113025. 1
212807113026. 2
212807113027. 3
212807113028. 4
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[Comprehension IMCQ

e o wiqereen aeid § FraeRsierdr (x,,,) T IR () €
(1) Xm=—13W p=0
(2)  Xp=0 ¥R p=1
(3) Xm=13%R p=-1
(4) xm=1 %R pn=0

Options :

212807113025. 1
212807113026. 2
212807113027.3
212807113028. 4

Question Number : 98 Question Id : 21280728258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

At a place, the horizontal component of earth’s magnetic field is 4 X 10 ~*T and angle of dip is 60°.
The value of horizontal component of earth’s magnetic field at the equator is :

(1) V2x10*T

(2] BxIi—*T

(3) Zero

(4) 8x1074T
Options :

212807113029. 1
212807113030. 2
212807113031. 3
212807113032. 4

Question Number : 98 Question Id : 21280728258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Teh ¥ W, Y& 6 Frrhid & 1 Afast g2 4 x 10 74T iR A v 60° 1 fere En w gt &
T &5 1 Afas wew T

1) Vz2x10T
(2} 2sli~4T

(3) Zero
(4) 8x1074T
Options :

212807113029. 1
212807113030. 2
212807113031. 3

212807113032. 4 .
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Question Number : 99 Question Id : 21280728259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List - I with List - 1L

List - I List - II

(A) Magnetic dipole moment (I) Weber/m?2

(B) Magnetic permeability (I) Am (Ampere m)
(C) Pole strength (IIT) Henry/m

(D) Magnetic flux density (IV) Am? (Ampere m?)
Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(I), (O)-(1L), (D)-()

(2) (A1, (B)-AV), (O-(ID), (D))

(3) (A1), (B)-(IV), (C)-(ID), (D)-(I)

(4) (A1, (B)-(D), (O-(I, (D)-(IV)
Options :

212807113033. 1
212807113034.2
212807113035. 3
212807113036. 4

Question Number : 99 Question Id : 21280728259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

oI - [l it - 1 1 e shif
Tl - 1 Tt - 11

(A) g=eE fgya sl ()  Weber/m?

(B) FShId TR () Am (Ampere m)
(C) Y g (III) Henry/m

(D) TRl T FATH (IV) Am? (Ampere m?)

9= feu e foeredi § 9 W& ST &1 999 Fif9U
(1)  (A)-(1V), (B)-(I), (O)-(I), (D)-()

(2 (A)-1D), (B)-IV), (C)-(III), (D)-()
(3)  (A)-(0), (B}-(IV), (O)-(II), (D)~(III)
(4)  (A)-(1D, (B)-(I), (O-(ID), (D)-(IV)
Options :

212807113033. 1
212807113034. 2
212807113035. 3
212807113036. 4
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Question Number : 100 Question Id : 21280728260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Ferro-magnetic materials used in transformer core must have :
(1) low permeability and high hysteresis loss

(2) high permeability and low hysteresis loss

(3) high permeability and high hysteresis loss

(4) low permeability and low hysteresis loss

Options :

212807113037. 1
212807113038.2
212807113039. 3
212807113040. 4
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rawTR e § e ol gras gered 1 39EnT 2 €, o uy faftea s g
(1) 7= g iR 3= Sifye g™
(2) = TRl SR e Sifes g
(3) o YR SR 3= AT B
(4) 7= g iR e dforeg

Options :

212807113037. 1
212807113038.2
212807113039. 3
212807113040. 4
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Comprehension MCQ

For a long wire carrying a current of 10 A, the magnitude of magnetic field at a point 4 cm away
from it will be :

(1) 4x107°T
[} Bxl09%T

(3) 10T
(4) 5x10=*T
Options :

212807113041. 1
212807113042.2
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TS o R H 10 A 1 910 8, T99 4 cm g0 W o w fig W g & &1 g &rm
(1) 4x1073T
(2) 2x10-5T

(3) 107°T
(4) Sx10~5T
Options :

212807113041. 1
212807113042.2
212807113043.3
212807113044. 4
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_)
A charge of 5 nC moves with a speed of 2 x 109 m/s along the positive y-axis. A magnetic field B

of strength (2? e }?)T exists in space. The magnetic force acting on the charge is :
Fa M
(1) (-20k +104)N
A M
(2)  (20k —10/)N
= A A
(3)  (20k +10i)N

/.\ At
(4)  (10i +5k)N
Options :
212807113045. 1
212807113046.2

212807113047. 3
212807113048. 4

Question Number : 102 Question Id : 21280728262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

% collegedunias

India’s largest Student Review Platform




5 uC SEY 2 x 106 m/s I Y HACHF y-318 T I T8 | Teh Frahig &4 B % yarew (2? + i)T
frafa 5 €1 39 W fud gk 9 €

(1) (—20? + 10?)N
(2) (20}3 ~ 10?)N
(3)  (20k +107) N

A N
(4)  (10i +5k)N
Options :
212807113045. 1
212807113046. 2
212807113047. 3
212807113048. 4
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Key Value
Comprehension MCQ

The circuits where transformers are used :
(1) ac circuits

(2) dc circuits

(3) in both ac circuits and dc circuits

(4) neither in ac circuits nor in dc circuits

Options :

212807113049. 1
212807113050. 2
212807113051. 3
212807113052. 4
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TfTuer Sel SIEEHT S STHRT B ¢
(1) ac 99™
(2) dc 9ftoy

(3) THi ac 3R dc URgs &
(4) T ac X E de 9" |

Options :
212807113049. 1
212807113050. 2

212807113051. 3 - collegedunias
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212807113052. 4

Question Number : 104 Question Id : 21280728264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The statement that is NOT true about induced emf is :

(1) The induced emf lasts so long as the change in magnetic flux continues

(2) The direction of induced emf is given by Lenz’s law

(3) Whenever the amount of magnetic flux linked with a circuit changes, an emf is induced in
the circuit

(4) Larger the amount of magnetic flux linked with a circuit greater is the emf induced in it

Options :

212807113053. 1
212807113054.2
212807113055.3
212807113056. 4

Question Number : 104 Question Id : 21280728264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
foeId a8 9 (emf) F TR H STHE FF ¢ ¢

(1) ORE emf e T | @AR TR 1

(2) U@ emf =i fewn &S % 799 (Lenz’s law) ¥ a1 =eian 21

(3) @ gRuy # Frasha YA | 9iEdd & SR 9iqe § URd emf |
(4) Uy % 1Y gree TR AT S ol UG emf 31fere €

Options :

212807113053. 1
212807113054. 2
212807113055. 3
212807113056. 4

Question Number : 105 Question Id : 21280728265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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The magnitude of electric current is increasing from A towards B. If there is any induced current

in the loop as shown in the figure, its direction will be :

A\ 4

A B

(1) Clockwise

(2) Anticlockwise

(3)

(4) Can not be predicted

Options :

212807113057. 1
212807113058. 2
212807113059. 3
212807113060. 4

No induced current

Question Number : 105 Question Id : 21280728265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

forera oy =1 afearo A | B 1 R Faad 71 afe awr (qu) S fas A gt € F 6 i g, @ swet

Tegm 2t

Y

(1) = fa feen &

2) et o fauda fem d
) hrE URa gRr T
(4) STIHM &l & Hehd

Options :

212807113057. 1
212807113058.2
212807113059. 3

-

-
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212807113060. 4

Question Number : 106 Question Id : 21280728266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A coil having ‘n” turns and resistance ‘R () is connected with a galvanometer of resistance “4R" ().
What is the induced current in the circuit when this combination (coil+galvanometer) is moved in
time t from a magnetic flux ¢4 to ¢, ?

q 2=
o e2- o)
o 2t
st

Options :

212807113061. 1
212807113062. 2
212807113063. 3
212807113064. 4

Question Number : 106 Question Id : 21280728266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
e Fued foed o T €, SR U 9fady ‘R’ Q § S foh ok fararndier fage ufadie 4R Q § 9 921
BI @ | ST HASH (FUSel+TTaiet) 1 gashd TR ¢, ¥ b, Tt §57 o foru 7fqeier foan smem
1 gy § I N
—n(¢s — dq)
(1) 4Rt
—n(¢2 — d1)
(2) Rt
—n(by — 1)
(3) 5Rt
—($2 — 1)
(4) R
Options :

212807113061. 1

212807113062. 2 .
212807113063. 3 collegedunlas
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212807113064. 4

Question Number : 107 Question Id : 21280728267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

An emf of 0.5 V is developed in the secondary coil, when current in primary coil changes from
5.0 A to 2.0 A in 300 milliseconds. The mutual inductance of two coils would be :

(1) 0.02H
(2) 0.3 H
3) 0.01 H
4) 0.05H

Options :

212807113065. 1
212807113066. 2
212807113067. 3
212807113068. 4

Question Number : 107 Question Id : 21280728267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fgdftareh Fu=ell § 0.5 V &l Tk emf 3c9%1 Bl &, ST8l WA, Fosal H &/ 300 ms § 5.0 A & gRafdd
Y 2.0 A € S &1 ST Fuetadl S i g gnt

(1) 0.02H
2) 0.03 H
(3) 0.01 H
4) 0.05H
Options :

212807113065. 1
212807113066. 2
212807113067. 3
212807113068. 4

Question Number : 108 Question Id : 21280728268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A series AC circuit has a resistance 8 () and a reactance of 6 . The impedance of the circuit is :
1) 140

2) 100
35
=0

G -

4h 70 :
(4) Qcollegedumas



Options :

212807113069. 1
212807113070. 2
212807113071.3
212807113072. 4

Question Number : 108 Question Id : 21280728268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
T i AC uftwe # U 8 O Uil o1 s 6 O 1 ufqend &1 uftaer 1 wiqenn €
(1) 140
2) 100
35
—1
@)
4 79
Options :

212807113069. 1
212807113070. 2
212807113071. 3
212807113072. 4

Question Number : 109 Question Id : 21280728269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - II
(A) Infra red waves (I)  Eye surgery
(B) Microwaves (II) 1nm to 1073 nm
(C) Ultraviolet (IIT) Heat waves
(D) X-rays (IV) Produced by special vaccum tubes

Choose the correct answer from the options given below :
(1) (A, (B)-(I), (O-AV), (D)-(I)
(2)  (A)-dD), B)1V), (O-0), (D))
(3)  (A)-(V), (B)-(1), (O)-11), (D)-()
(4 (A)-ID), B)-0), (O-L), (D)-(IV)

Options :

212807113073. 1
212807113074. 2
212807113075.3
212807113076. 4

Question Number : 109 Question Id : 21280728269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1 .
Question Key Details : - COI IegEd unilas
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Key Value
Comprehension MCQ

T - 1 et - 11 5T
eit-1 eA-11

(A) ST adl @ = Tafwa

(B) H&H T () 1nm ¥ 1073 nm

(C) =Tt (1) 79

(D) wEE-fHm (Iv) fovm frata et | 3afea
frefafed d 9 @@t fages &1 9979 ¢

(1) (A)-ID, (B)-(I), (O-( ) (D)-(H)

(2)  (A)-I), (B)-(IV), (O)-0), (D)-(IN)

(3)  (A)-AV), (B)-I1D), (C)( ) (D)-(I)

) (A)-1), B)-[@), (O, (D)-(IV)

Options :

212807113073. 1
212807113074.2
212807113075. 3
212807113076. 4

Question Number : 110 Question Id : 21280728270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Following are the wavelength of some constituents of the electromagnetic spectrum. The wavelength
range that are used in Radar system for Aircraft navigation is :

(A) 1 mm to 700 nm

(B) 01mtolmm

(C) 400 nm to 1 nm

(D) <1073 nm

(E) >1m

Choose the correct answer from the options given below :
(1) (A) and (D) only

(2) (B)only
(3) (C) and (E) only
(4) () only

Options :

212807113077. 1
212807113078.2
212807113079. 3
212807113080. 4

Question Number : 110 Question Id : 21280728270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1 COI Ieged un iag
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Question Key Details :

Key Value
Comprehension MCQ

forera Jaeshia WaH & F5 Uea & qieed 9 § 1 aga o avy & ot RADAR gomedt # qimeed
W(Range)ﬂwmm%:
(A) 1 mm to 700 nm

(B) 0.1 mto1lmm

(C) 400 nm to 1 nm

(D) <1073 nm

() >1m
Tr=forfea 4 O Od fawed &1 994 &+ :
(1) 3@ (A) &R (D)

(2) < (B)

(3) %A@ (O) iR (E)

(4) @ (O

Options :

212807113077. 1
212807113078.2
212807113079. 3
212807113080. 4

Question Number : 111 Question Id : 21280728271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

When a ray of light enters from denser medium to rarer medium, its velocity is doubled. The
critical angle for total internal reflection will be :

(1) 60°
(2) 45°
3) 30°
(4) 90°

Options :

212807113081. 1
212807113082. 2
212807113083. 3
212807113084. 4

Question Number : 111 Question Id : 21280728271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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& Uk YRt TR foRor wem wiea | fae wrenm H e FRdt €, SEeRT o Al &1 S B 9Ru SAidfa

RIS o U shifdeh shior BT :
(1) 60°

(2) 45°

(3) 30°

(4) 90°
Options :

212807113081. 1
212807113082. 2
212807113083. 3
212807113084. 4

Question Number : 112 Question Id : 21280728272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

Which of the following is/are responsible for the formation of Rainbow ?

(A) Dispersion of light
(B) Interference of light
(C) Reflection of light
(D) Refraction of light

Choose the correct answer from the options given below :

(1)  (B) and (C) only

(2) (A)and (C) only

(3) (A), (C) and (D) only
(4) (A) only

Options :

212807113085. 1
212807113086. 2
212807113087. 3
212807113088. 4

Question Number : 112 Question Id : 21280728272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

-
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TEUY T T ZTH G B H ST § 2
(A) TR T qRETT

(B) WehIY =1 SHATdhYl

(C) UehTEl T qLEd

(D) IS & ST9E
frfafad § 9 W&t faswrey o1 =9 & -
(1) 9@ (B) ¥R (C)

(2) 9 (A) R (O)

(3) A (A), (O ¥R (D)

(4) FFA (A)

Options :
212807113085. 1
212807113086. 2

212807113087. 3
212807113088. 4

Question Number : 113 Question Id : 21280728273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

.
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The shape of graph between 1/u and 1/v in case of a convex lens is :

¥

B
(1) Tl/v

1/u

1/u

Options :

212807113089. 1
212807113090. 2
212807113091. 3
212807113092. 4

Question Number : 113 Question Id : 21280728273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1 Q
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Question Key Details :

Key

Value

Comprehension

MCQ

A A9 F 1/u AR 1/v F 99 & Ga9 w1 0@ H Fefua fwmm s g

Y
B
o (R

A —O
1/u

@ 1]

O —
1/u

1/VT

3)
S A—
1/u
1/v
(4) T
SN
1/u
Options :

212807113089. 1
212807113090. 2
212807113091. 3
212807113092. 4
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Question Number : 114 Question Id : 21280728274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

At what speed should a galaxy move with respect to earth so that spectral line of 600.0 nm appears
as 600.6 nm ?

(1) 3x10°ms~!
2y BxI10° mygt
(3) 5x10°ms—1
(4) 5x10°ms!

Options :

212807113093. 1
212807113094. 2
212807113095. 3
212807113096. 4

Question Number : 114 Question Id : 21280728274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Jedt % | SMHTIFFN it 7Ifd =0 B =feC fF 600.0 nm T Fheged @1 600.6 nm Fdid 21 ?
(1) 3x10°m s~ !
(2) 3x10°ms—!
(3) 5x10°ms~!
(4) 5x10°m s~}

Options :

212807113093. 1
212807113094. 2
212807113095. 3
212807113096. 4

Question Number : 115 Question Id : 21280728275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Two thin lenses of power +3D and —1D are held in contact with each other. Focal length of the
combination would be :

(1) 5m

(2) 50 cm

(3) 10m

(4) 100 cm
Options :

212807113097. 1
212807113098. 2
212807113099. 3 .
% collegedunias
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212807113100. 4

Question Number : 115 Question Id : 21280728275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
< TS S F AT E 43D 3R — 1D, S 7 9 U1 T GaeH F1 B gl 9
(1) 5m
(2) 50 cm
(3) 10 m
(4) 100 cm
Options :

212807113097. 1
212807113098. 2
212807113099. 3
212807113100. 4

Question Number : 116 Question Id : 21280728276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Let us consider interference between two sources of intensities T and 4I. What will be the intensity
at points where the phase difference is m ?

() I
(2) 51
(3) 91
4) 0
Options :

212807113101. 1
212807113102.2
212807113103. 3
212807113104. 4

Question Number : 116 Question Id : 21280728276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T 3t S Sl TSRt e 1ae 41 8, SHeh sAfashio 81 11 € | 39 fog W dteran oo Srft STl hefiat = 8 2
(1) I

(2) 5l
(3) 91
4) 0

Options :

212807113101. 1
212807113102.2

212807113103. 3 - coIlegedunias
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212807113104. 4

Question Number : 117 Question Id : 21280728277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Two polaroid P; and P; are placed such that their pass-axis are mutually perpendicular. Another
polaroid P, is rotated between P, and P,. For what angle 6 between P, and P, the intensity of light
emerging from P; will be maximum ?

il
@ 3
®) 5
4 <

212807113105. 1
212807113106. 2
212807113107. 3
212807113108. 4

Question Number : 117 Question Id : 21280728277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

QI Yo P, 991 P, ol 56 YR 1@l 71 § fof 3eh1 IIRE 218 T8 @9ad §1 U g8 e P, Sil fo P,
qAT P, o w4 yoiv #1 @I &1 Py IR P, % s foRm @ 0 % fow Py | Freher aren g fF g
sAferepeam gt 2

M 3
& 5
®) 7
@

212807113105. 1
212807113106. 2
212807113107. 3

212807113108. 4 gcollegedunias
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Question Number : 118 Question Id : 21280728278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The graph showing correct variation of photo current with intensity of incident light :

=
B
2
g5
S B
H &8
Intensity
of light
e
E
g
5
S E
2 =3
Intensity
of light
i
B
ks
2E
<}
S E
Intensity
of light
2
B
ko
U ]
g8
£ 3
(4) e~ D
Intensity
of light
Options :

212807113109. 1
212807113110.2

-

-
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212807113111.3
212807113112. 4

Question Number : 118 Question Id : 21280728278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fou 71U oAt H § F 91 THE-S9d 9N IR afaes YeRre i dierdl & s T8 e ©

R
T =
2§
_g?:‘
1y &2
o
i
3
QJ“
28
o K
= 3
2) =8
i
H
g .
[5}
Es—'
&
o]
[5]
o
m-l—l
S8
=3 =!
L3
B ©

I

Options :

Intensity
of light

Intensity
of light

Intensity
of light

Intensity
of light

-

collegedunias
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212807113109. 1
212807113110.2
212807113111. 3
212807113112. 4

Question Number : 119 Question Id : 21280728279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Electron and Photon have same de Broglie wavelength, which of the following is true for their
momentum :

(1) Momentum of electron < momentum of photon
(2) Momentum of electron and photon is zero
(3) Momentum of electron = momentum of photon

(4) Momentum of electron > momentum of photon

Options :

212807113113. 1
212807113114.2
212807113115.3
212807113116. 4

Question Number : 119 Question Id : 21280728279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

TAHRM 3 BIEH H El-sFdl aiicsd 9 2| 7% a1 & fau Fefafga d A M @ 99 99 2 :
(1) TS 1 HATT < HIH & HaAT

(2) TFH IR WA % G I ¥

(3) TOEH H1 HAT = W H AT

(4) STFIHE 1 HRT > K 1 Hal

o 1311, 1

212807113114. 2

212807113115.3
212807113116. 4

Question Number : 120 Question Id : 21280728280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Which of the following graph correctly shows the relation between photoelectric current (I) and
wavelength (M) of incident radiation

(]

A —>
1
)
A —>
(3) I T
AN —>
i
(4) T
AN —>
Options :

212807113117.1
212807113118. 2
212807113119. 3
212807113120. 4

Question Number : 120 Question Id : 21280728280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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e feu Tu strer H § e fagga uw (1) @en stfaa faferwe @ qineed (\) A 9@ darw wefifa ©

(]

(4)

A —>
]

A —>
11

A —>
(]

A —>

Options :

212807113117. 1
212807113118.2
212807113119.3
212807113120. 4

Question Number : 121 Question Id : 21280728281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Consider two different hydrogen atoms. The electron in each atom is in first excited state. According
to Bohr’s model, electrons will have :

(1) different energies but the same orbital angular momentum
(2) same energies and the same orbital angular momentum
(3) same energies but different orbital angular momentum

(4) different energies and no orbital angular momentum

Options :

212807113121. 1
212807113122. 2
212807113123.3
212807113124. 4

Question Number : 121 Question Id : 21280728281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

2 TESSE W, e WA S9h qem SAfed staen # ¥ Sie Aied % ST R, oM % U ¢

(1) fafs= =i o2 a9m wwadfa soiE d@o)

(2) HHM TSl SR THE HEE i Fo |

(3) HEE FEl W fafy= i woig o)

(4) Tafsr=1 =il &iX 18 il o Ham 76 2
Options :

212807113121. 1
212807113122.2
212807113123. 3
212807113124. 4

Question Number : 122 Question Id : 21280728282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Choose the correct statements :

A) A nuclide is represented as %Z X

B) Nuclids with same number of protons are called isotopes

(
(
(C) a-ray scattering experiments allow determination of the nuclear radius
(D) Nuclids with same number of neutrons are called isotones

(

E) The nuclear force distinguishes between neutron and proton

Choose the correct answer from the options given below :

(1) (A), (), ), (D) and (B) only

@) (B), (D) and (E) only

(3 (B () and (D) only

@ (B (©), (D) and (B) only M collegedunia

-



Options :

212807113125. 1
212807113126. 2
212807113127. 3
212807113128. 4

Question Number : 122 Question Id : 21280728282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

79 9 HEl 9k g

(A) geFrEe ST 2 x gr fa@mn i €

(B) —gairze fSrHeh YIS &l §9F HeA 31 39 gHefe FEd 2
(C)  o-Tercur yariforg gt it eveRta = <Rt srarar €1

(D) —gFaEe fred gaM 2M i G 8 39 FHE] FEd T
(E) FI9ehid o S =Jg a9 W H U8 ol €1

T faredi 9 9 981 &1 9949 &L

(1) %= (A), (B), (©), (D) ¥R (E)

(2) & (B), (D) SR (E)

(3) %A@ (B), (O) ¥R (D)

(4) %3 (B), (C), (D) ¥ (E)

Options :

212807113125. 1

212807113126.2

212807113127.3
212807113128. 4

)
)

Question Number : 123 Question Id : 21280728283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

.
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Match List - I with List - IL
List -1 List - II

(A) To slow down fast moving neutrons () Thermal neutrons
(B) A neutron or a proton (I) Fission

(C) Slow neutrons (IITy Moderator

(D) Neutron induced nuclear reaction (IV) Nucleon

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(II), (O-(), (D)-(I)
(2) (A0, (B)-(IV), (O-(II), (D)-(I)
(3)  (A)-(D), (B)-(), (©)-(1V), (D)-(I)
(4) (AU, (B)-1V), (©)-0), (D)-(ID)

Options :

212807113129. 1
212807113130.2
212807113131. 3
212807113132. 4

Question Number : 123 Question Id : 21280728283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

- [ 9 et - 11 %l e
Tt - 1 - 1

(A) e w9 | Afaelia =EE w@ fm e s far (@ adE - =eE
(B) I A UIEH () fagved

(C) i =2 () Heeh

(D) =2 ¥ Yfa vk sifufean (IV) ~gFIrEH
i few T foeredl | & W& ST o T h

(1) (A)-(IV), (B)-(IM), (O)-(1), (D)-(I)

(2)  (A)-(D), (B)-(IV), (C)-(II), (D)-(II)

(3)  (A)(ID), (B)-(ID), (©)-IV), (D)-I)

(4)  (A)-D, (B)-(IV), (O)-(I), (D)-(II)

Options :

212807113129. 1
212807113130. 2
212807113131.3
212807113132. 4

Question Number : 124 Question Id : 21280728284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

nia:
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A radioactive isotope phosphorous-32 has an initial activity 10 pCi and has half life of 14 days.
What is the activity of the source after 42 days ?

(1) 1.25 uCi
(2) 25 pCi
(3) 5 uCi
(4) 0.625 pCi

Options :

212807113133. 1
212807113134.2
212807113135.3
212807113136. 4

Question Number : 124 Question Id : 21280728284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e Leftar gaeenfies wERRE-32 &1 JRiE 9ihaar 10 pCi 3R 7917 14 fe7 &1 42 &7 91g &
IEIERCIES R

(1) 1.25 uCi
(2) 25 pCi
3) 5 uCi

(4)  0.625 pCi
Options :

212807113133. 1
212807113134.2
212807113135.3
212807113136. 4

Question Number : 125 Question Id : 21280728285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Energy band gap is maximum in :
(1) metals

(2) semi-conductor

(3) super conductor

(4) insulator

Options :

212807113137. 1
212807113138.2
212807113139.3
212807113140. 4

Question Number : 125 Question Id : 21280728285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details : - COI IegEd un ia,E
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Key Value

Comprehension MCQ
Tl dwe 19 fohg o sAfyerad €2

(1) wmgd

(2) o1 =wE

(3) SIfd =erh

(4) FEIEHR
Options :

212807113137. 1
212807113138.2
212807113139.3
212807113140. 4

Question Number : 126 Question Id : 21280728286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The forbidden energy gaps in conductors, semiconductors and insulators are (Eg)er (Eg)s and
>

(Eg)l respectively, What is the relation among them ?

(1) (Bpe < (Eps < (Ep)
@) (Ey.> (B> Ep)
(B)  (By. < (Ep),> By
(4)  (Bpe=(Eys> [Ey)

Options :

212807113141. 1
212807113142.2
212807113143.3
212807113144. 4

Question Number : 126 Question Id : 21280728286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

AT, SR SR Feerhl H afefd Sl SHquet A (Ey),, (Ey)s S (Ey); €1 376 = Hefel A1 8 2

&)s

(D) By < (Bgs < (Bg)y
@ E)>E),> E)
(3) (Eg)c = (Eg)s 2 (Eg)l
(@) (Epe= (Eye> Ep)

Options :

212807113141. 1
212807113142.2
212807113143.3
212807113144. 4

edunias

India’s largest Sludenl Review Platform

Question Number : 127 Question Id : 21280728287 Question Type : MCQ Option Shuffling : No Is Question Mandatory ; ulat None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 On



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following statements are correct for a transistor action ?

A) The input resistance depends upon the current I, in the transistor

B) Collector currents is equal to the sum of base current and emitter current

(
(
(C) The emitter junction is forward biased
(D) The collector junction is reverse biased
(

E) Both the emitter junction as well as the collector junction are forward biased

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only

(2) (B), (O) and (D) only
(3) (O, (D) and (E) only
(4) (A) and (C) only
Options :

212807113145. 1
212807113146.2
212807113147.3
212807113148. 4

Question Number : 127 Question Id : 21280728287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

o1 foran o fore 578 & & o1 %o 9 72

(A) erforex § fraef fady emy 1, W faei o #)

(B) TUEE U, YR YR 3K Sedsish YR & AN SIe T €
(C) TS |y eTufefies smaw 2 2|
(
(

B

e

D) Huws iy yysfefoen sy g 2
e wfy qen s wfy 39 smfefrer arw B
= fou U foswredi § 9 9 ST 1 999

E

R

(1) e (A), (B) 3R (C)
(2) e (B), (C) ¥R (D)
(3) e (C), (D) R (E)
(4) Had (A) 3R (C)
Options :

212807113145. 1

212807113146.2

212807113147. 3
212807113148. 4

gcollegedunias
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Question Number : 128 Question Id : 21280728288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The logic gate realised using p-n junction diodes in the given figure is :

Ae i

— @

Be -

= %g

Y
®

(I) OR gate

(2) NOT gate
(3) AND gate
(4) NAND gate
Options :

212807113149. 1
212807113150. 2
212807113151.3
212807113152. 4

Question Number : 128 Question Id : 21280728288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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p-n G4 grEire S foa B 9 fohan T § i i e ama 22

Ae Jer

—o

Be i

¥
3

(1) OR =

(2) NOT =

(3) AND 2

(4) NAND e
Options :

212807113149. 1
212807113150. 2
212807113151. 3
212807113152. 4

%a

Question Number : 129 Question Id : 21280728289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

Which of the following is a transducer ?

(A) Loudspeaker
(B) Amplifier
(C) Rectifier

(D) Microphone

Choose the correct answer from the options given below :

(1)  (B) and (C) only
(2) (A), (B) and (D) only
(3) (A) and (B) only
(4) (A) and (D) only

Options :

212807113153. 1
212807113154.2
212807113155.3
212807113156. 4

Question Number : 129 Question Id : 21280728289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

-
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Key Value

Comprehension MCQ
‘T e i A Fm R

(A) e T

(B) waY®

(C) fe=srl

(D) HIZRITA

== fou T fowredi @ J Wér ST 997 HL ¢
(1) e (B) ¥R (C)

(2) = (A), (B) 3R (D)
(3) e (A) ¥R (B)
(4) HEE (A) IR (D)

Options :

212807113153. 1
212807113154. 2
212807113155.3
212807113156. 4

Question Number : 130 Question Id : 21280728290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The correct mathematical expression for amplitude modulated wave is :
(1) Asinet

(2) A sine t

(3) (A, +A,sinw,t)sinwt

(4) Asine t+A sino t

Options :

212807113157. 1
212807113158.2
212807113159. 3
212807113160. 4

Question Number : 130 Question Id : 21280728290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
A Higere q &1 TEl it 1o g3 ¢
1 A sinw t
2) A, sinwt

(A, + A, sinw  t)sinm t

H_\.fr_‘\f_‘\ﬁ‘_\.
= 02
T v e

Asine t+A sine  t .
% collegedunias
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Options :

212807113157. 1
212807113158. 2
212807113159.3
212807113160. 4

Question Number : 131 Question Id : 21280728291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A vertical electric field of magnitude 4.9 x10° NC~! just prevents a water droplet of mass 0.1 g
from falling. What is the charge on the droplet ? Take acceleration due to gravity 9.8 ms =2
(1) 20%10-2C
(2) 20x1076C
(3) BERIPC
(4) 5.0%x10°C
Options :
212807113161. 1
212807113162. 2

212807113163.3
212807113164. 4

Question Number : 131 Question Id : 21280728291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e IgTHI forefd &5 =1 19 4.9 x 10° NC 1 S 0.1 g 5 &1 g &l A 4 =<1 81 @1 §8 W 3369 #
BRT ? (6 @0=9.8 ms—2)

fj 20%10-2¢

(2) 20x10-¢C

(3) 5.0x10°C

(4) 5.0x10°C

Options :

212807113161. 1
212807113162.2
212807113163.3
212807113164. 4

Question Number : 132 Question Id : 21280728292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Which of the following statements are correct ?

(A) The resistivity of a semiconductor decreases with increasing temperature.
(B) The potentiometer is unaffected by the internal resistance of the source.
(C) Inionic crystals and electrolytic liquids electrons carry the electric current.
(D) Ohm's law fails if V depends on I non-linearly.

(E) Kirchhoff’s rules are used for analysis of electric circuits.

Choose the correct answer from the options given below :

(1) (B), (©) and (E) only
(2) (A), (B),

(3) (©), (D) and (E) only
(4) (A), (O and (D) only
Options :

212807113165. 1

212807113166. 2

212807113167.3

212807113168. 4

(D) and (E) only

Question Number : 132 Question Id : 21280728292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

'Value

Comprehension

MCQ

feadasnarsr e ?

(A) g H gfg & @ st o gfaderema sedt 8

(B) faswemmdt W wia & otiafie ufadiy &1 #18 q9a 6l uSdl ¥

(C) smafT forteet, Thaiiiees Ball, Seehali Toeld YN 1 9& Ldl o
(D) ‘3ir’ = form o] 721 A ® afe v, T W T w9 § R wa #)
(B) ‘foEre’ foam o1 sweii faga oftny & S 2

A= fou U fawmedi o 9 W& ST 1 994 Hif9U ;

(1) W()()&W)

(2) e (A), (B), (D )
(3) @ad (C), (D) ¥R (E)
(4) EE (A), (C) 3 (D)
Options :

212807113165. 1
212807113166. 2
212807113167. 3
212807113168. 4

(E)

Question Number : 133 Question Id : 21280728293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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For a medium with permittivity (€) and permeability (), the speed of light (v) is given by :

Options :

212807113169. 1
212807113170.2
212807113171. 3
212807113172. 4

Question Number : 133 Question Id : 21280728293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TS HiEAH o feau fSreent TUeEdis (e) S IRl (u) o foe wehme fok 7ifd =t (v) =1 foren T 2

—_—
=
"
w |

Il

Options :

212807113169. 1
212807113170. 2
212807113171.3
212807113172. 4

Question Number : 134 Question Id : 21280728294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

% collegedunias

India’s largest Student Review Platform




A parallel beam of monochromatic light of wavelength 460 nm passes through a long slit of
width 0.1 mm. What is the angular divergence in which most of the light is diffracted ?

(1) 23x1072 rad

(2) 4.6x1073 rad

(3) 9.2%1072 rad

(4) 9.2x107¢ rad

Options :

212807113173. 1
212807113174.2
212807113175.3
212807113176. 4

Question Number : 134 Question Id : 21280728294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T 460 nm THTCEA STeT Tk vl Fehmer o1 Al =1 it T 0.1 mm =eE ot ol fordt § Joret 21
IV YEUl (angular divergence) 1 & fSai sifueray wermn &1 faad= gan 2 2

(1) 23%1073 rad

(2) 4.6x1073 rad

(3) 9.2x1073 rad

(4) 9.2%107° rad

Options :

212807113173. 1
212807113174. 2
212807113175.3
212807113176. 4

Question Number : 135 Question Id : 21280728295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

What is the wavelength of light for the least energetic photon emitted in the Lyman series of the
hydrogen atom spectrum lines ?

(Take h=663x10"3*TJs ;e=3%x10%ms=1 ; e=1.6 1012 C)
(1) 122 nm

(2) 12.2 nm

(3) 1.22 nm

(4) 10.2 nm
Options :

212807113177. 1
212807113178.2
212807113179. 3
212807113180. 4

Question Number : 135 Question Id : 21280728295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : Iculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 COI Ieged un iaE
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key

Value

Comprehension

MCQ

ol & Sl 916l R S 6 gEeer WA & araie 9o 9 Scafsid 8, ST gt o alesd @1 2 ?

(h=6.63%x10"3Js ; c=3x10® ms~!; e=1.6x10"19 C wifam)

(1) 122 nm
(2) 12.2 nm
(3) 1.22 nm
(4) 10.2 nm

Options :

212807113177. 1
212807113178.2
212807113179. 3
212807113180. 4
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